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Convert (1011.101), to decimal

Select one
10(11.625) .a @
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i o Present State Next state Output E
8 X=0 X=1 1 =0 X=1

a d b / 0 0

b e a ’ 0 0

C g =1 =0 1

d a d

e a d 1 0

f C b 0 0

e o 1 0







To "set” the latch, we should apply

X
Q

Y

VA

select one:
e X=0Y= andif=1

ik X =1, Y=0and =0
Oz Xe=1.Y= liopd =it

O d X=0Y=landZ=1
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Given the following state table, the circuit irm‘]plemenﬁng Alt+1)

is using D Flip-flop

:| Current State Input | Next State | ¢ Jutput |
L (4AB) (x) DaDg) i) |
e U0 LLIBINTo TR o0 T
S R |
| DU ol T 00 I
1 AR Wi VA o

10| G oo L B
DT e T 10 T,
VT 0L DA & SO T T

Select one:
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select one;
2
a. NO Change
F e 7 i
® b, Both outputs Q and Q' cre ]
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For the circuit below, the Quitput Y is represents

1:4 Demux bogihaie
it of g 1 A LS
~— En

Select one:
O a. the output carry bit of g full adder
O b. the sum bit of a full adder,
O c. the borew bit of a full adder

O d. the input carry bit of a full adder
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w, it both registers A and B are 8-bit each, then what is fhe value in hexadecimal of
A in hexadecimal is OF and the initial value of Bis 5C and the shift confrol is acfive.
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Given the table below for a given sequential circuit o be designed using JK flip-flops, the equation of the J

input of flip-flop A is:

Present
State Input
A B x
i) 1]
] ] i)
| 0 |
| 0
| 1
O a. Ja=X+tA+B
) b dx= X AR
) & ada=1
L d ‘-J.-’-\ =0

Next

State

A

Flip-Flop Inputs

Ja

P A A
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A demultiplexer is used 1o ...

() a. Select data from several inputs and route it to single output
t of

b. Perform serial to parallel conversion

c. Route the data from single input to one of many outputs

J d. Noneis correct

U e. Allis correct
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The group of bits 11001 is serially shiffed (right-most kit first) info a 5-bit parallel output shift register with an initial state 01110.

After three clock pulses, the register contains

O a.
O b.
O c.
@ d.

00110
01110
00001
00101
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| Gonver this number from one base to another:
| (W 1] o )2

i 111001000
Y 111001001 1)
l{\'
| ] [0 10 ]

U1 100100 )

Uil 1onionl




The canonical form for F(A, B,C) based on the truth table below is

p -
o
0

F

=== | o | o|lo|o
== O O | == | OO
= O|= O = | O|=|O
> (O >X | O | O ||| =

Select one:
® a. TM(3.4.6)*d(1.5,7)

O b. MM(0,1,2)*d(1.5)
O c. Im(3.4.5.6)+d(1.7)
O d. Im(0.2,5)+d(1.5)






Write characteristic equation to construct T-FF from a JK-FF is:

Oa Q@=TEQ

O b Q=TQ &1Q
Oc Q=TQ+TQ
Od Q'=TQ .1Q
Oe Q=T HTQ



